
① a ＋ a = ⑥ v＋ a =
② a ＋ b = ⑦ a ＋ w=
③ a ＋ x = ⑧ v＋ x =
④ y ＋ a = ⑨ y ＋ w=
⑤ b ＋ y = ⑩ v＋ w=

おんぷで　たしざん ⑴

こたえを　すうじで　かきましょう。　　なまえ（　　　　　　　　　　　　　）

　＿＿＿＿＿＿てん
（ひとつ　１０てん）

いくつ　のばしますか？

a（　　　つ）のばす　　　x（　　　つ）のばす　　　v（　　　つ）のばす
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① a ＋ ' = ⑥ b＋ y＋w =
② ' ＋ b = ⑦ y＋ a＋v =
③ ' ＋ x = ⑧ '＋ x＋ a=
④ v＋ ' = ⑨ a＋w＋'=

⑤ '＋ w = ⑩ v＋ ' ＋ y=
いくつ　のばしますか？

a （　　　つ） のばす　　　x（　　　つ） のばす
v（　　　つ） のばす　　　'（　　　つ） のばす

おんぷで　たしざん ⑵

こたえを　すうじで　かきましょう。　　なまえ（　　　　　　　　　　　　　）

　＿＿＿＿＿＿てん
（ひとつ　１０てん）
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① n ＋ n = ⑥ n ＋m =

② n ＋ m = ⑦ n ＋ l =

③ m ＋ m = ⑧ l＋ m =

④ m ＋ me = ⑨ l＋ me =

⑤ me＋me = ⑩ l＋l =

おんぷで　たしざん ⑶

こたえを　すうじで　かきましょう。　　なまえ（　　　　　　　　　　　　　）

　＿＿＿＿＿＿てん
（ひとつ　１０てん）

いくつ　やすみますか？

 n（　　　つ）やすむ　　　　m（　　　つ）やすむ

me（　　　つ）やすむ　　　  l（　　　つ）やすむ
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① n ＋ n ＋ n = ⑥ n ＋m ＋ n =

② n ＋ n ＋ m = ⑦ n ＋ l ＋ l =

③ m ＋ m ＋ m = ⑧ l＋ m＋l =

④ m ＋ m ＋ me = ⑨ l＋ me ＋ m =

⑤ me＋me ＋me= ⑩ m ＋ l＋l =

おんぷで　たしざん ⑷

こたえを　すうじで　かきましょう。　　なまえ（　　　　　　　　　　　　　）

　＿＿＿＿＿＿てん
（ひとつ　１０てん）

いくつ　やすみますか？

 n（　　　つ）やすむ　　　　m（　　　つ）やすむ

me（　　　つ）やすむ　　　  l（　　　つ）やすむ
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① a ＋ n = ⑥ v＋ n =
② n ＋ b = ⑦ n ＋ n =

③ n ＋ x = ⑧ a ＋ n＋ x =
④ y ＋ n = ⑨ n ＋ y＋ n =
⑤ n＋ w = ⑩ n＋ w＋ y =

おんぷで　たしざん ⑸

こたえを　すうじで　かきましょう。　　なまえ（　　　　　　　　　　　　　）

　＿＿＿＿＿＿てん
（ひとつ　１０てん）

いくつ　のばしますか？

a（　　　つ）のばす　　　x（　　　つ）のばす　　　v（　　　つ）のばす
いくつ　やすみますか？

 n（　　　つ）やすむ
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①
n ＋ n =

⑥ b＋ y＋w =
② n ＋ m = ⑦ y＋ a＋v =
③ m ＋ m = ⑧ '＋ x＋ a=
④ m ＋ me = ⑨ a＋w＋'=

⑤ me＋me = ⑩ v＋ ' ＋ y=

おんぷで　たしざん ⑹

こたえを　すうじで　かきましょう。　　なまえ（　　　　　　　　　　　　　）

　＿＿＿＿＿＿てん
（ひとつ　１０てん）

いくつ　やすみますか？

 n（　　　つ）やすむ　　m（　　　つ）やすむ　me（　　　つ）やすむ　　  l（　　　つ）やすむ
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いくつ　のばしますか？

a （　　　つ） のばす　　x（　　　つ） のばす　　v（　　　つ） のばす　　'（　　　つ） のばす


